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General Instructions :

Read the following instructions carefully and follow :

(i)

(it)

(i1i)

(iv)

22

This question paper contains three sections — Unseen Passage, Writing
Skills and Textbook Based Questions.

Section A (Unseen Passage) — contains four parts and attempt all parts
of questions with choice based on specific instructions given in the

question iteself.

Section B (Writing Skills) — contains three questions. Attempt all three

questions based on specific instructions given in the question itself.

Section C (Textbook Based Questions) — contains main six questions.

Attempt all questions as per the instructions given in the quesion itself.

Section A
HUATCHSRT: T9AT: 40 37T
S UICRICEIBED
AafSa-TaATEA
Unseen Reading Comprehension 10 375T:

FYIfAIRad ey Afecal JeaH T H&hdd 3Ad :
frfcTRaa TermsT =l gt Yed ST o ST TEhd § G

Read the following passage and answer the given questions in Sanskrit :

TR W Ffdereded HAiEd | T ° HIHA GaHEIHTH, 39 Ggeht HAfEd |
3 TAd g eI Wafd Iq #8: FE= sicaad ®eg | W wiea: e
TETIERE $eH AT v 7 FElg oM | 19 S 9 AHas J6a:
ek qU:, Ithod — “HAHT TUS: WA T ;7 | AN FESYRNIVN HehosTich:
YA Hald, d S @ | I o ST ScaTeladl: HSHHishaeicd gt
YT J Pdf~d, d BAET GAE: Yaf=d | TR Iedr], T@as Sl | od:

A 39, TS: 91 Hhedd 3Ty 91 a8 Ad: geHhed-fasheddl: Td
I WS |
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q2AT:

(3)

UehUcH 3T | (hadl JeTEdseTY)
T Teg H I ST | (el a1 )

Answer in one word. (Only four questions)

(i)  ¥H: shigem Al ?

(i) TR wg: G ggsantq HfEd ?

(ifi) T = SieTan SRy 2

(iv) SISSYENTUI Sl JaeTl vafd ?

(v) S U 91 999 Al U9 3T Wd ?

qUIETRA ITRA | (had T9gIH)

Ul 9T H I G | (Shad &l )

Answer in a complete sentence. (Only two questions)
(i) wEa: Hipsre foh e ?

(i) o THA: S ?

[

(iii) o H9ET qUiSdn: waf ?

I eI ggfad IMeh for@d |
3 Tf=Se 1 gfd YN fAfey |

Write a suitable title for this passage.

TG 3TA | (Shaed JeTY)
FeeTgER I T | (Fad o Tw)

Answer as directed. (Only three questions)
(i) ‘srfdeeaem’ 3fd ygea faurss fog ?

(i) ‘Taay 3fd qew foctmug foh TRy ?

(iii) ‘et~ i Toramaeer 3™ Hqug ok TI®A 2
(iv) ‘9’ i yee wafaag T TRy 2
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Section B
TEATCHER -SRI
TR - T
Writing Skills

A 3UE: | WAl Jeeh: e HEhaRH-SIaREl YW qEhR
TegaH | @ F9iaRg fifad T Aegumiea-ue: freamgfd seam 9 g4: foreg |
39 30 & | Aok T |19 4 9 HUSA H GERA-TEA WIAART § YoM
qUEhR T fohaT 8 | 36 91978 ¢ o oW fot@ 7T 9 & Ao § U 7Tq wrecf &
ok T i qfd ek 9 Bl IA: Tafaw |

You are Arnav. Your friend Sarthak has got the first prize in the

competition of ‘Sanskrit Gayan’ at the District level. Given below is a
letter to congratulate him. Fill in the blanks from the words given in the

box below and rewrite the same. ZOXé =5
___
fomg:
S g&e (i)
auy 99 |
I e, 9N FEhaTRANRIREaTT (iii) JIH JEHR
(iv) | e TR I (v) _ RHFETY | HehauT
gfd  vad: AR (vi) WIW:W
FERTESRIAARE 3T (vii) JEAT | Tdcehd Hederd:
QIR (viii) Rlg | v W@iHal i #
(ix) [EECSIRIE
REEREEEY
(x)
HSTHT

IAHVSS, |IYh!, TeEaH, uiE:, HAA(eh, g9y, Jfd:,
&, JIWTG:, JOTHET: |
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Ao TIGTRIeEH]  TgRIaa ARG AgharEl R - R
T g: foeq -
ol ¥ fou U vregl h wEwar ¥ e et e H e T et

AT I IA: Teifaw
Complete the blanks of the following short story, with the help of
the words given in the box below and rewrite the same : ZOXE =5

T AVEATT FHY Teh: Aoges: () Ui, “HERS | 318
Ted WEA: e | (i) T HAMY U 9 |7 HERN:
dged — “@dueH g IEH U I (i) __ Yo ded 3T
gfee™ | 3 g @A Gv) 7 AW |7 W AegEN: el
ST ShIEHTIRA U T gge: IHad | T6: 399 — “Igg HAATH aq

HIEAfd YoM |7 TavHd, AeqEs: (v) ShadM | TTe: IFeed, —
“@ T @ TR =S a9 "H: (vi) M gaed |
HUS FEIT (vii) Tqer, M R (viid) req
vord: Shid: ITeRIHT  (ix) vigsafd | Id: mEas: 9cd
(x) Ieh: fom: = wald |

HSHT

I, SHIER[:, SN, -arad:, TEgq, T8, higd,

o 2 N\
JIdAT, Hcdl, "aTHIEAT |

AT (OR)
FIfIRgd-Harg Freem T @ q

frefariaa game 4 s T vt -
Fill in the blanks in the conversation : 5x1=5
STETH; — Wi | T: T ST A T Tgehrd e T Had ?
prer: — @) |
37eq19e: — TUqed: SUiE: SarTd: | a1 foh SATad, ?
preg: — (i) |
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37e9H: — U |8 TWhaHl, TTedl Y= ot foh goed ?
Rrg:  — (i) |

37eqT9H: — oF HAT-ETR Tk iy ?

R — (i) |

37eT9H: — qd Gral Wiasald shieaerd | ThgTH, UldaTiiengsea higer ?
rrT: — (V) |
SEgF; — qEd: ThGH g AWAH, 3Td HEw@qUl = HAfEd | T

RCTEIATH UfTgTiehgsedl IHgiH df<d | @1 Aawawa
ST |

‘“Iaeer:’ 3fd faw Ao Jeoseg — FERaE AYAl EASedu
TRy Uy 3eag forad |

‘I <1 T X AT | foU U Sreq) 1 HEEE € 31eET A €9 9
qfe el | T Aweg fofau |

On the subject of ‘Bharat Desh’, write a paragraph in five
sentences with the help of given words in the box below or

independently. 5x1=5
HosTHT

Ta:, 1947 99 o, foemer: foooft, wsewmwn, &=,
Trefaam, fafaen: esfawmm, waifo, T, T, T,

— . o
dal~d, HI&hldshgsIdT |

A4t (OR)
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(@) fmAfIRaqameRy Hus=r gou el S5had A6 Hed
ffctiad aTerli W | foheal @ier STorRIl Sl T%hd H ITATG hITWIT
Translate any five sentences from the following sentences to
Sanskrit : 5x1=5

() enfgem T g Se |
Aaditya will go to village today.

(i) ST T & 919 et g |
The boy runs with friends.

(i) WA <t ToarT foeett 2 |
Delhi is the capital of India.
(iv) T gt fea § afas 2 |
The Ganga is sacred in all rivers.

(v) & gl AR 9& 2 |

There are trees on both the sides of the river.

(vi) TS AT ! I <aT 8 |
The king gives clothes to the beggar.

(vii) U8 & v fima £ |
The leaves fall from the tree.
Section C
gfsaraaieaTy
yfed-raatea

Reading Comprehension

ARG Tl gfScal TEIaTa™ SR TEhd- I
ffafaa Tams 1 Tget 39 T TETRA T o 3T G&hd § EINIT

Read the following passage and answer the questions based on it in
Sanskrit : 3

IR ﬁq“’g?fl“él?ﬁ el ol o T | a9 aige 9 3fd G
Ui | |: IS Yeaaryeheagl Udr gTeaa SR HTed HEATHTCAT, 3TTE IS g
TeeeHce 99 9 o9 ddigd  fOarame e TSaaeH - IR R
TECHIEE TSI A YI<siH, dgl dehrddig: | 19 a1 §d § Y3 goall
TSIAMTIEHTICT ARREATT qe1 gty TS g7 | YAeTHasoseyd 3id o= TsY
HosT Gl dgedy WISTHICH JH1 |
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DL IH

(3)

UehUCH ITHA | (had TgIY)
U Yeg U I ST | (Shaet g I9)

Answer in one word. (Only two questions) 2x—=1
() Trges Sig® T W @ 9uei ?
(i) GO fob T8 TS IS TRHUTR ?

(iii) 9N idaries: ATEHq Jg T o fowd Femaammme 2

qUIETeRA ITRA | (Shadl T9-ehY)
9 TRy H I T | (had Tk TR)

Answer in a complete sentence. (Only one question) I1x2=2

(i) TSI SATHA: S HATeaT foh fo=mEmmE 2

(i) T o foemed TS gou Sreaq ?

FYIfARad Tamel qiocal AaranaM T, S%hdd 30 :
frfcTad T sl 9geht 30 W TN T < 30X T&hd H ST

Read the following part of a poem and answer the questions based on it

in Sanskrit :

(31)

ThATY AT, Tt e |
MBI Hol |d, JAT =01 & ||

TehUCH 3T | (had JRgIY)
Ueh 316¢ B IR T | (Shadt g TH)

Answer in one word. (Only two questions) 2x—=1

(i) AT ohd ol IMNHA ?
(i) &0 o dedr ward ?

(iii) HYAT Fo higyl wafd ?
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(a1) qufaTeR ITRA | (Shad TRASY)
Ul 9Te § IR I | (Shadd Teh )
Answer in a complete sentence. (Only one question) I1x2=2
(i) §d HoA higeH AU AT =T ?

(ii) U T ATHICAT G ?

ARG AT Ufdcal TETETHAH T, FFhd- 3T
ffcTRad JTeaImeT =l dgeht 36 W SMETRA T o I &hd § ST

Read the following part of a drama and answer the questions based on it

in Sanskrit : 3

PUST — TEEAHH Hiawd SRR FRAHI JIGUEy | T 1 fa=mon 2

TErTET — JATE URATH YR W @ieved T | gudl & gwtd
Ao JrAfest: a1 gd giiaa™ a1 @1 fsfia a&q oTmEiq |

P8 — Tasfia g rfq R Jfafceta v g fawafon: omefiq sfd s |

HETTE] — ETelg: Tucdl e, I Uled = Sagel 9ol fefshicar | Trfed o
HARY: 3¢ TcilUg STFIhY |

94T

(37) Uhded A | (Shadd JeIgIH)

T ¢ H IR GINT | (had & TH)

Answer in one word. (Only two questions) 2x—=1
(i) RN SR aIque wafd ?
(i) E¥: el TATUI T ?

(i) BRETICET gl &1 AT ?
(a1) qufaTeR ITRA | (Shadl TRAY)
qUl AT H IR GNT | (hadl Teh TH)
Answer in a complete sentence. (Only one question) Ix2=2
(i)  Frufsst: =i 7d gTiaa ?
(i) BReErg: T FHea A0 b 2
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AYTARIAR Taeg wrene Hes[uTieaye: R g4: fored
frferRad wer 1 Wi w9 § fou MU wreel | Wt 4 fRa

Complete the central idea of the given verse with the words given
in the box below and rewrite the same : 4><§ =2

Brfay s gr arHEETeEA: |
M SHITEAAT ATEAEHTCTT Ioid ||

wrae:
WA HTehSUT: SIS AIEHA STRH T4 (i) Iq M
HIg: (ii) T AT TR AT (i) aft |
AA: I: S WhE HANHTSd H: UANd RV caid
(iv) |
T
N, SteRfd, e, grrfT
U4t (OR)
YT g A e forea -

o T i e § @ g s % g R

Write the pure essence from three essences of the following each
part : 2x1=2

(I)  “Argrdn 9 wEaid: Hagmagrydl T |7
(i) 38 H9R 9T YUUREY: WM 99: 314 3L 1 S |
(i)  HHTAl G 453 9 STEH |
(i) AUl gaTTgR: T gal A |

(ID) 7 goiA: FHargafd ws: ggawfy fremmor: |
i) e g g@aﬁaaﬁ:amﬁ |
(ii) Wgﬁ_—[: Tgd: forereh: frferar wafa qar & am: wafd |
(i) g 9: wad: Ruamfagfy: fRemmn: i @ w@wE 1 =i |
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AITARGT-TATRE 3T~ HoS[WT: FTETEA eI qd

T 7= | 9w <l gl § ek o= 9k
The prose-order-rendering of the following verse is given below.
Fill in the blanks with the help of the words given in the box below : 4><é =2

USRI, Joa-au T, HeaH -G |

YISRISA HIehdedT:, TSl giaumaer: ||
HAY:
@) Tite: gl (i) EESCHIIN
(iii) fe=m (iv) |
'Flo_clt;GlT

TSN, FeAHTd, SIS, oo

F TR IR @ R JTeRH 98 Had $d
‘@ TN & I H @ TEH o T o a1 e Hif

Match the sentences of column ‘% with the suitable sentences of
column @’ : 4><é =2

‘®’ Ty &’ Ty
(i)  TaEEsa fagmn  (31) i uree gaRed |
(i)  AhdTY FEa ggEdt (9)  foffHa seaHmaE: |

(iii)  FOEmeEalster (|@) T @ A9 |

(iv) IcHY HI1 Aoy (3)  TTEEATHH-SERTRIEE |
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